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NO.146 Which two steps do you perform to update the logo in a portal header? (Choose Two)

*  Upload the new image to a binary file record.

*  Reference the image in the portal skin.

*  Reference the image in the application record.

*  Update the portal header to reference the new image.

NO.147 Select two of the following best practices to follow when designing mobile applications. (Choose Two)

*  Use layout groups instead of containers to group sections in harnesses.

*  Layout widths should be specified in pixels since the response breakpoint is set in pixels.

*  Avoid sourcing controls and grids from data pages.

*  Use controls that allow tapping.

NO.148 Which two tasks are required to build a mobile app from a Pega Platform application? (Choose Two)

*  Create a certificate set.

*  Configure access to the Pega Mobile Build Server.

*  Configure access to Dev Studio.

*  Set up push notifications to developers.

NO.149 You are analyzing application performance and notice one or more data transforms exceeding preferred performance

parameters.

Which of the following performance tools do you use to help troubleshoot the issue?

*  Pega RULES Log Analyzer

*  Database Trace

*  Performance Profiler

*  Performance Analyzer

NO.150 The page .Product contains data retrieved from an external system of record using a data page.

How do you ensure .Product always contains the most current data from the data page?

*  Select Refer to a data page on .Product.

*  Select Copy data from a data page on .Product.

*  Configure .Product to refer to a keyed data page.

*  Define a reference property that refers to the data page.

NO.151 Which three statements about the guardrail score are true? (Choose Three)

*  The Application Guardrails landing page counts the number of rules with severe or moderate guardrail warnings.

*  Guardrail scores do not include Pega Platform core rules.

*  The Application Guardrails landing page counts the number of rules with no warnings or caution-level guardrail warnings.

*  A weighted compliance score above 90 signifies that an application is ready for general distribution.

*  Rules with unjustified warnings are not counted in the compliance score.

NO.152 Which two of the following situations require an activity? (Choose Two)

*  Call a connector from a flow

*  Simulate a data page

*  Call a connector from a data page

*  Simulate a connector

NO.153 Consider the following table where a correspondence is circumstanced based on country.
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If .Country=USA, which version of the correspondence will run?

*  01-01-10

*  01-01-30

*  01-01-15

*  01-01-20

NO.154 Which two data elements can be used as an attribute for an access control policy? (Choose Two)

*  Appointment date

*  Number of dependents

*  Password string

*  Encrypted bank account number

NO.155 Sourcing a data page directly from a UI control is an example of which pattern?

*  System of Record (SoR) pattern

*  Alias pattern

*  Reference pattern

*  Snapshot pattern

NO.156 An error is generated as a connector invokes a remote service .

Which of the following could be an example of a transient error?

*  The request is sent to the wrong system.

*  The service is running on a system that is temporarily not available.

*  The returned order total is incorrectly calculated.

*  The request format is not understood by the service.

NO.157 What effect does the Use all workbasket assignments in user&#8217;s work group option have on how workbaskets are

searched when using the Get Next Work functionality?

*  This option limits the workbasket search to only those workbaskets defined in the user&#8217;s work group.

*  This option organizes all assignments in all of the workbaskets the user is associated with into a single list before the list is filtered

and sorted.
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*  The workbaskets associated with the user are checked first. If no assignments are found in the user&#8217;s workbaskets, the

user&#8217;s worklist is checked.

*  When a user clicks the Next Assignment link, the system checks the user&#8217;s worklist. If assignments are available in the

user&#8217;s worklist, the assignments are filtered and sorted.

NO.158 Which layer of the Enterprise Class Structure (ECS) contains generalized assets that are then extended by specific

implementations?

*  Division

*  Organization

*  Implementation

*  Framework

NO.159 You create a report in a work class that displays the assigned operator and task name for each open case .

Which two ways can you combine data in the Assign-Worklist class for your report? (Choose Two)

*  Use a class join to the Assign-Worklist class. Specify a join filter where the pxRefObjectKey in the join class is equal to an object

identifier in the work class.

*  Use a Worklist Assignment association rule to join the Work class to the Assign-Worklist class.

*  Use a class join to the Assign-Worklist class. Specify a join filter where the Worklist Assignment association rule is equal to an

object identifier in the work class.

*  Use a Worklist Assignment association rule to join to the Assign-Worklist class. Specify a join filter where the pxRefObjectKey

in the join class is equal to an object identifier in the work class.

NO.160 A developer has identified resource-intensive queue processors as the source of performance issues that application users

are experiencing.

Which two actions do you perform to resolve the performance issues? (Choose Two)

*  Associate the queue processors with the appropriate node types.

*  Select the Include in background processing option on the application rule.

*  Configure the queue processors to run multiple times a day.

*  Configure the application nodes with node types.

NO.161 An application contains five instances of the same rule. The only differences between the instances are the circumstance

settings and ruleset version. All the rulesets are in the same ruleset list.

 

 

Which ruleset version is chosen by rule resolution when .Country = Japan?

*  MyCoSelfService:01-01-02

*  MyCoSelfService:01-01-03

[2022] Valid PEGAPCSSA86V1 test answers &amp; Pegasystems PEGAPCSSA86V1 exam pdf [Q146-Q162] |  Page 4/5  |

https://premium.validexam.com/?p=349
https://premium.validexam.com/?p=349


This page was exported from - Valid Premium Exam 
Export date: Mon Feb 24 6:30:03 2025 / +0000  GMT

*  MyCoSelfService:01-01-04

*  MyCoSelfService:01-02-01

NO.162 Which two statements are true about database tables in Pega Platform? (Choose Two)

*  The PegaRULES database contains rules while PegaDATA contains work instances.

*  The Database Table rule allows configuration of a connection to a specific table.

*  The History record table contains a record of when each user logged in to the system.

*  The report definition rule should only be used against one table for performance reasons.
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